I' AYKEIOY MEPOX A

1712 1)
AEAOMENA ZHTOYMENA
y(t)=x*(t)-3x(t)-6 | ) y(t,)=;

x(t,) =5 B) y'(t,)=:
X’(to):_

Oétovpe t=t,
W y()=x()-3x(1)-6 = y(t,)=x(t,)-3x(t,)-6=
X(ty)=5

= y(t,)=5"-3-5-6=y(t,) =4

mapoywyiovpe

B) y()=x*()-3x()-6 = y()=2x()x()-3X(t)=>

t=t, X(to)=5, X'(t,)=—1

=Y (t)=2x(t)X' () -3'(t,) = Y(t)=2-5(-1)-3-(-)=

=y (t,)=-7

1712 2)

AEAOMENA ZHTOYMENA
y(t)=2x*(t)-5 [ 0) y(t,)=;
x(t,)=2 B y(t,)=:
x'(t,)=3

0

a) 'Eyovpe

X(ty)=2

y(t)=2x (1) -5 y(t,)=2x2(t,) -5 = y(t,)=2-22-5=|y(t,)=3

B) "Exovue

Y() =2 (1) =5 =y (1) = ax (D)X () Sy (t,) = 4x (8,)X(,) =

X(t5)=2, X'(t4)=3

y'(t,)=4-2-3=[y(t,) =24

17.12  3)
AEAOMENA ZHTOYMENA
y(t)=x*(t)+x(t)-1 | o) y(t,)=;
x(t,)=3 B y(t,)=;
X'(t,)=2

Oétovpe t=t,
W y(t)=x2(t)+x()-1 = y(t,)=x(t,)+x(t,)-1=
X(t)=3

= y(t,)=3+3-1=|y(t,)=11

mapaywyilovpe

B y()=x*(t)+x(t)-1 = Vy(t)=2x(t)X(t)+xX(t)=



(to)=3. X(t)
=Y (t)=2x(t)X () +X'(t,) = y(t)=2-3-2+2=y(t,)=14

17.12 4)
AEAOMENA ZHTOYMENA
y(t)=x*(t) @) y(t,)=;
x(t,)=3 B vY(t,)=:
X'(t,)=—4
Oétovpe t=t, X(ty)=3
) y(t)=x(t) = y(t)=x(t,) = y(t,)=3F =>|y(t,)=27

mapay®yilov t:tu
B y()=x(1) =y (1) =3¢ (XD =Y (L) =3¢ ()X (L) =
X(t)=3, X'(t,)=—4

y'(t,)=3-32-(-4)=|y'(t,) =108




